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Answer all questions.

1.,
(a) Brietly explain the following terms.
(iii)  TypeIand Type II errors
(v} Critical region
(b) Assignment marks and final examination marks of a subject for randomly selected 15 students are
given below.
Student Name A|B|CIDIE{F|G|H| I| JIK|L|M|N|O
Assignment mark | 60 | 47 | 60 | 56 | 47 {27 | 45|61 |68 |62 35|53 |57]|25!31
Final Mark 67 |54 15314947 |35|30|77 5715414216063 |42 ;28
Using suitable statistical test, test the validity of the claim that “Expected assignment mark is
greater than the expected final examination mark for a randomly selected student”. Use 5% level
of significance.
2,

According to past experience a company that produces a certain electrical bulb claims that the life time X
(in years) has a normal distribution with unknown mean and variance. A sample drawn from the above

distribution is given below.
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(i)

Find 95% confidence interval for mean lifetime of a randomly selected bulb. Intemrét your
results.

Find 90% confidence interval for variance lifetime of a randomly selected bulb. Interpret

your results.
Chi-square Distribution Table
5
i.f. .995 .99 975 .85 9 1 .05 025 01
b 0.00 0.00 0.00 0.0¢ 0.02 2.71 3.84 5.02 6.63
21 001 0.02 0.05 0.10 0.21 4.61 5.99 7.38 9.21
3| 007 11 0.22 (.35 0.58 6.25 7.81 9.35 11.34
4 021 030 048 071 1.06 7.78 949  1L.14 13.28
51 041 0565  0.83 1.1 161 9.24 1107 1283 15.09
6 0.68 0.87 1.24 1.64 2.20 10.64 12.59 14.45 16.81
7 0.99 1.24 1.69 2,17 2.83 12.02 i4.07 16.01 18.48
8 1.34 1.65 2.18 2.73 3.49 13.36 15.51 17.53 20.09
91 173 209 270 333 417 1468  16.92 19.02  21.67
10 2.16 2.56 3.26 3.94 487 15.99 18.31 20.48 23.21
11 2.60 3.056 3.82 4.57 5.68 17.28 19.68 21.92 24.72
12 3.07 3.57 4.40 5.23 6.30 18.55 21.03 23.34 26.22
13 | 3.57 411 5.01 5.89 7.04 19.81 22.36 24,74  27.69
14 4.07 4.66 5.63 6.57 7.79 21.06 23.68 26.12 20.14
15 4.60 5,23 6.26 7.26 8.5b 22.31 25.00 27.49 30.58
16 5.14 5.81 6.91 7.96 9.31 23.54 26.30 28.85 32.00
17 5.70 6.41 7.56 8.67 10.09 24.77 27.59 30.19 33.41
18 6.26 7.01 8.23 9.3%9 10.86 2599 2887 31.53 34.81
19 6.84 7.63 891 10.12 11.66 27.20  30.14 32.85 36.19
20 7.43 826 959 10.85 1244 2841 3141 34.17 3757
22 1 864 9.54 1098 12.34 14.04  30.81 33.92 36.78  40.29
24 9.86 1086 1240 1385 15.66 33.20 36.42 39.36 42,98




Entry is arca A under the standard normal curve from = 10 z2{A)}
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